ogooobbogagad

guobooobogoooooobd

godooon

U bbgdgoobbbbgoooobbbb b gooobbbooog x
O 000000000 00000 0.5kg x

U bbgdgoooobbgooooboobbgdsx

U ooggooooibx

O 00000000 O /kg, DOODODO0ODDOODODOOODO
gobbobbougooobobbobbouooogoboo

gooooood

goooboobbbobbbbbbbbbbbbobbbbbbbobbbbbbbbo
goobobobobbbbobobbobobbbobbbbbbboboobbooooouoaaaa
4000000101000 boobbogoooobbobboooooon
gobbobmoogoboobobbbbbdoouoooooboboobbbooooboogd
gooobobobbbbobobbobobbobobobbobbbobooboboboooooouooaad
gobbobbbodoooobbobobbodooooubobobbbooooon

gooboboobobobobbbbobbbbobbobobooobooboboboboobobbobbbbon
gooooobbbboboboboboboboboobobooboobbbooboobobobooooouoooaao
goboobbooooooooboobood

gooboboobobobobbbbobbbbobbboboboobooboboboboobobobobbobbobn
gooooooood

guooooobooggad

doodoooooooboboobbboobobbobbbbbobbobobbobbobbbn
gooooobobbbobobobobobbobobobbobobbbobobobboboooooooogo
goobobobobbbbobobbobobbbobbbbbbboboobbooooouoaaaa
gobbobbbouoooooobobbobbodooooobo sudooooon
gooobobobbbbobobbobobbbbbbbbbboboobbooodouuaaaad
gobobboooooad



Step 4 BRBEMOBHAICAE

A7 ORABRNESR

BEAEYEEHER

s 20024-20124%451
—UTR
39.02% = 160

R 15.74%

Step 5 HELEDEE)
20124 LB THORES
461 x 5009 % 15.74% X 1. 5 = 1.63t

(E BB+ REHR) (4, 5ADWEBDHTY  (BUR
DBOT7IEHE)

T2 T BARABY
ﬁﬂzu.J’:Liﬁﬁ 3083M / kg = 50375 H

(EEMET 1O FH )

: _fﬁgﬁgithﬁ&mézs.m@as%
S CNESWIRECHIFT HIEN

5% BB LLTHARTEANT VAR

032z —LavnELXA |

Hhnd !
cEu AN




	YＦ坪井　実習データからの被害量算定
	F 坪井　実習データからの被害量算定



